7.6 —Polynomial Graphs !

Practice 7.6
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7. Graph the function. Label all extrema, zeros and intercepts. Round to the nearest hundredth, if necessary.
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9. Graph the function. Label all extrema, zeros and int
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10. Use your graphing calculator to find the zeros, intercepts and extrema of each function. Round to the nearest
hundredth, if necessary. You do not have to graph the function.

Extrema
Function Degree Clt_)ee?f(ijclz?egnt y-Intercept? Mins Max
e N (2,-29) Local Max
fx = x*—8x2-12 7 Y= 305 o 0.12)
1(\5 K =% -9-.’)} "’LK] - A, L( ’ (_2, _28)
L AS K=o T T ¥ x=3.05 ABS
fx = 3x3—2x%+2x x =0
0,0
fs x— 00, f0 > -0 | 5 3 «--073 | (00 |None None
ASs X= po ,TK 7 OF x =273
Q) = x(x — 20)(x + 15)(x — 12) x =0 I (-@.58,% Local Max
4 x> Jm > oo i 7 «=20 |(00) ABY T I562,10631
/
: =12 Rel (16.71
S K= oo, xy =7 OV X )
sl Tl x =15 ~$210.89)
fx = 8—2x3+4x*—5x
Ao % —> 00, W) > || 3 2 x=183 | (09) fovel one!
AP ETS (= (=
! 2 1
fx) = mx + 2x — - x =753 (~4.64, ~7.96) Tove!
H ( ) (.- ABS
As x> -00, x> O x =.50 (=)
AS K= 0o ,TW - ov






